B R e T 1

[3] [A]
- WFT-1/PART -1
919 [ U e / CHILD DEVELOPMENT & PEDAGOGY
P - P 57 3 ST 83 @ g @R ORI R giel
Direction : Answer the following questions by selecting the most appropriate option.
1. SFHMEER & FPER T & W Ried 1. From Bronfenbrenner's —perspective
(geq o) & Prifeg & Q @@ 7@ which of the following does not belong
ST & 7 . to the Macro system of the child ?
(1) TP @) femm | (1) Culture (2) School
@) FrF-ar (@) T (3) Rules & Laws (4) Values
2. UF gBHg WF B Yo% Bl T 2. Reinforcing each small step of progress
Tq & dd ab gﬁéﬁﬁ UaE il 99 | toward a desired goal until it is learnt
T 6 g8 QU e ¥ dw 7 i o, completely, is known as :
FEA & | : AN
i (1) sEeesa () (1) Chaining  (2) Shaping
N () 3 (4) g (3) Cuing @ Modelling
3. gd argHEl W aTyia R & R @ 3. The expectation based on previous
Rl R @ @d B AR A F@ g experiences, with a lack of control that
E 5 Ig U Y9 STEEA B, Lol ~all one's efforts will lead to failure, is ; '
S . e il known as :
(1) eEER 2 4 - @ Depression
* @) & 53‘( T : () Learned helplessness
"  (3) TR oRERt (3) Negative Attitude |
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[A]

. Freifed § @ F-A qR@Re e

[4]

R & :

(1) | THF =T B
() W EREr SR
(3) T RS STaR Hl
@) T @ B T

(Reciprocal Teaching) &1 3a5d 7 37

(1) 58 g

Q) T B

(3) QAT TN

@ = @fliﬁ‘é el

Th ‘ST TS - STl TS b X

Sieicl B, A © '

(1) E-JHETT (Pre-conventional)
SRR

(2) eI (conventional) ST @

(3) STX-abETd  (Post-conventional)
BIRERINC?|

5. The

ability of 'Seriation' is the :
characteristic of the : :

()9- Sensory Motor Stage

(2) Pre-operational Stage

(3) Concrete Operational Stage

(4) None of the above

Which of the following is mot a
component of Reciprocal Teaching ?

(1) Questioning

(2) Clarifying

(3) Predicting

(4) None of the above

The 'good boy - good girl' orientat.ion
indicates :

(1) Pre-conventional level morality

(2) Conventional level morality
(3) Post-conventional level morality

@ Both (1) and (3) are correct

You greet your parents every morning
and your kid learnt the same by
watching it. It is an example of :

(1) Observational learning

~ (2) Operant conditioning
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10. ‘Sfiq W’ 1 Hepear & ’T*ﬁ o 10. The concept of 'Life Space' was given
" by :
(1) o who RFR & &R | 44)*])’ B. F. Skinner
(2) So o aqEqT B W @) J.B. Watson
@) wfes & am (3) Lewin
(4) %o Tdo dfvieTE® & & (4) B.L. Thorndike
1. o5 RRYY § @@ W o[ §9 @ 11. Application of abstract knowledge
B oRRef & START HEA, e - learnt in one situation to a different
TR situation can be termed as :
(1) SRS TAHIART ' (1) Negative Transfer
!_ (2) I= qY TR : (2) High Road Transfer
' (3) L T (3) Zero Transfer
r (4) T 9 B T (4) None of the above
]
' 12, H@fl"ﬁ G-TEFFI B VEIE‘H‘ ¥ STAD Cal 12. In the context of co-operative learning,
STAD refers to :
(1) Student Teacher Achievement
Division
} @) Students Team  Achievement
| Division ' ‘
(3) Students Team Acknowledgement
! : Division
i (4) Student Teacher Acquired Division -
3 ":% fough condmomng a neutral stlmulus
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6]

(2) FUH S/ zsfs a5

3) TP @

4 T q P T

AU S R

mﬁ%%ﬁﬁ%mm%(

(1) gEsT™

(2) " gse

(3) "N

(4) TogefrHRor

ST ST Fem ¥ R @ gRy &
| Y g & Ry ST T

T FX W@ T 7 T

(1) Rex ergam '

(2) =X e

(3) Rerx sfarr
(4) =X SHaua
Te gfeior % ‘ge3 wE-FRe g @i
%mmaﬂﬁ%’,mw%: B
(1) = & g’ . h
() aeFleed $ @

15.

16.

17

18.

The feeling of an adolescent 'everyone
noticed that I wore this shirt twice a
week', is an example of :

(1) His awareness

(2) Imaginary audience

@) Self-regulation

(4) None of the above

Cognition about one's own cognitive
processes can be termed as :

(1) Recognition

42) Meta cognition

(3) Identity
(4) Perception
You have introduced 'weekly quiz' in
your class to assess student's progress.
You are using which schedule of
reinforcement ?

(¥) Fixed Ratio

(2) Variable Ratio

(3) Fixed Interval

4 Vaﬁalile Interval ‘

Theﬁé% "children speak to themselves
for self guid ance", was given by :

) P:i“agét L = o
@) Vygotsky
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A foeniiEt A T B! WX gfie qlE
gt foRan A & eTRo Ho 60
g T Sef B! @l S #go 30 TR
WI'A'@TNT'B'%WMMW
T PA-8 Fu4 a8 7@ ¢ 7
(1) 'A'H a9 i ST B

- (2) 'B'H TR < e 2|

21k

22.

B3) 'A'H TR Afew T B
@) A" (1) T (2) TH B
= /8 B

() fEoafrmmr () fewiea

3) Radagar (4) ERERE
ROt & oIgaR §eam & Sfebar @
fFE @ amrs:

(1) 5-6af q 8 T

(2) 9-10 9 & A & Y Th

(3) 12-13 9% & &Rl & MY T

4) 6aﬁ§wang Ry

[7]

[A]

20. Two students 'A' & 'B' were tested a

21

22,

standardized 1.Q. test. 'A" has an 1.Q. of
60 and 'B' has an 1.Q. of 30. Which of
the following statement is not true
about 'A' and/or 'B' ?

(1) 'A'has mild intellectual dlsablhty
(2) 'B'has a severe intellectual disability.
(3) 'A'has a severe intellectual disability.

) Both (1) and (2) are true

The term used to describe 'reading
disability' is : '
(1) Dyslexia

(3) Dyscalculia

(2) Dysgraphia
(4) Dysparaxia

According to Piaget, at which age the
morality of co-operation develops ?

(1) 5-6 years to 8 years

(2) 9-10 years to older
@) 12-13 years to older
(4) Below 6 years

. The statement 'first do what I want you

to do, then you may do what you want
fc do , best describes :

(L) Premack Principle
@) Law of Readmess
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26. I® Gof STET WX e SUTHRT HerF o 26. The phase at which a child can master a
m Ra s w, R #d QETCT task if given appropriate help and
< BT T ©, bl & - support, is known as : %

(1) <erar & ' “ (1) Zone of mastery

(?2’) TR o & & L ) Zone of proximal development
(4) ST ?;‘ | (3) Zone of learning

4) ST F & 9 7w (4) None of the above

27.

;ﬁﬁm SEHAT = P GEANEH  yENT 27. The first person who used the term
BNl Elﬁﬁ qr . 1 3 s et ] .
0 : : Learning Disabilities' was :
& ﬁgm; 3 ot (1) Skinner
- Hi » @) Samuel Kirk
. s wigs (3) Sigmund Freud
) fawed gue ; (4) Wilhelm Wundt
28. ; ’ :
8. T ‘UISTa® SEIYH’ P TN B _ 28. The application of an 'aversive stimulus'
is:
( ;) Wﬁ‘ﬁo‘ gﬂziaw 1y Negative reinforcement
@ wEs . (2 Punishment
3 RSN - (3 Reward
ORI | ~ (4) Shaping

29. U fommell @em F wum oM B Rmw owEt | 20 A student works hard to get first rank in
BEAd AT o SEH AeTd B 9B o - hisclass. The type of motivation behind
S R his hard workis
(1) eraRe s ‘ | ‘

Scanned with CamScanner



SETE A S AR e S, 2 LR

T T RN

TR, S P T T —

9N - 11/ PART = Il
st (R ud ilioh) / LANGUAGES (HINDI & ENGLISH)

B : [T Fet & oY a7 & kg @ad Sfed [ g

31.

32.

T % el § o feeed B gie

(1) @ 7 fore amm § ugad fawi

- R 9 oEER @ A9 FH B
SR AT W AT T D A Y
Pl ST FeRhl © |

@) B 9 # FEE B OSgE WA
iR @ At Okl & SRS
& fftr fear o B 1

(3)u€faﬁumwaemm%anm

wm%g@qw%%ﬁaﬁm ‘

Mg

(4)a@qmﬁﬁ3$ﬁm%-ﬁm
FeRE & 9 fE B

oo o e A 3w F A
3 e g gt 7 # 7

(1) e - § 8
(2) IR - A
@) fogd - &,

4 fw fFgm - @

[9] [A]
[ &=/ HINDI ]

a3, Uit @ gt & A @ oIl :
(1) HSR -~ &
(2) @oarg - T
(3) < -
(4) e - T

54, o FEIR & @ o S FE
Ry el & A A MG R
() GRETE () T
(3) ETE (4) foerdier

35. g R & &1 S @ A 7@ 8 7
(1) g (2) &y
(3) @ ) AT

6. o of@l § W ¥ - & T AW 9=
o S
) =E (2) fEaRid
(3) ST @ wE

37. ﬁmﬁmﬁ%aﬁﬁ—wﬁw‘ﬁrﬁ’iﬂ
g 7@ § 7
1) (2) T
@) T (R

Level-3/1321

P.T.O.
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[11]

[A]

[ 315 / ENGLISH |

n : Answer the Jollowing questions by selecting the most appropriate option.

46.

47.

Choose the correct option for the blank
given :

A post ‘without remuneration is a/an

...... S o [o 1 &
(¥) Voluntary (2) Sinecure
(3) Honorary (4) Involuntary

Choose the correct option for the blank
in the sentence given below :

There has been a decline in
the case of infanticide in some of the
districts of Haryana.

(1) signified

--------------

(2) signify

(3) significantly

50.

51.

Choose the correct antonym of the
word 'Kindle' :

(1) Extinguish

@) Light

(3) Fade

(4) Burn

Cﬁopse.thc correct option which gives

the correct meaning of the underlined
idiom/phrase :

I_-Ig wants his son to know the ropes of
the trade.

(M To know the teéianiques or wayé of
\; ‘doing a job

(2) To know how to tie ropes
3) ',Fo:.;lmgw"how to untie ropes

’ff‘ ¢ 9w how to make ropes
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53.

54.

55.

Choose  the sentence that ig

grammatically correct :

(1) New houses have being built for
the homeless.

2) New houses have been built for the
homeless.

(3) New house have being built for the
homeless.

(4) New houses has being build for the
homeless.

You should not
even if you fail.

Fill in the blank usmg the correct
option.

(1) adopt
(3) adapt

-------------

unfair means

(2) adept
(4) adapted

Which of the options given below is the
correct passive form of the given
sentence ?

They crowned him king.
(1) He was crowned king by us.
(2) He crowned king.

(3) He was crowned king.
(4) He had been crowned king. -

Choose thg comgetrpﬁ i

[12]

57.

58.

Choose the correct option for the blanks
given :
[ was going to Rishikesh when on

......... way I met ............. European.
(1) a,the (2) the,a
(3) the, the (4) a,a

Choose the correct indirect form of

' speech of the given sentence :

Father said to me, "Let the child play in
the garden."

A1) Father told me to let the child play
in the garden.

(2) Father said to me let the child play
in the garden. .

(3) Father asked me to allow the child
to play. 4 .

@) Fathet asked me ng:t
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[A]

HIT =11/ PART - 1lI
HHTY {9/ GENERAL STUDIES

[ TR I, b SRR quT S S U ST / QUANTITATIVE
APTITUDE, REASONING ABILITY AND G.K. & AWARENESS ]

AR : IR ) 3 Gare 3% & [y &%) afei ey g

Direction : Answer the following questions by selecting the most appropriate option.

61. T T 4 Fiida @ w5t 1 @ 71
P TR T R IR BT F A
ﬂ%m%lﬁmﬁ’tﬁwﬁnﬁr
SIS} |

(1) 8fpii/Amer  (2) 4 Ref/ave
) oRmiATE  (4) 12 Ref/eve
62. O3 T ST R ¢

o

63. IR AW SR A 95% Tt B ¥ iR

61. A river flows at 4 km/hr. The speed of a
boat in downstream is thrice the speed
of that boat in upstream. Find out the o

%5

speed of the boat in still water ? o ""’1 5
@) Skm/hr  (2) 4km/hr 53
@) 6km/hr  (4) 12 km/hr 62

62. Find the value of 0 ;

P

-

560
1) 15° (2) 60°
(3) 90° (4) 45°
63. If fresh grapes contain 95% water, and

dry grapes contain 5% water, how many
kilograms fresh grapes are required to

get 400 gm of dry grapes ?
(1) 7.6 kgms (2) 8kgms
(3) 8.2 kgms 4) 72kgms

64. Lengthofa rectangular hall is 4/3 times
of its breadth. If area of a hall is 300

- square meter then what is the difference

(2) 4 meters
(4) 5 meters
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[14]

a ST T TS 5 TR ¥ Fh gaa

&P B PEET 12 B 9 29 ey
36%@%&%%%%%&:{
Y S/ A S | T S i

) 60
@) 20

(1) 62
@) 26
e F Ffe oof g s B
: 3,3, 6,18, 72, 380, 2160
(1 3 @) 18

@y 380

= ¥ g, AiﬁangBq‘,Tqm-gggﬂ:ﬁ
35 ZaTrrliFlﬂ?raEfqﬁ'amg% :
() 15af AR 109F S
(2) 459% &R 35 " |
@) 19& R 1298

20 °

@r2safelx 15ad T ?

A &R B 9 1210 To & TH @9 39
mmﬁA%ﬁ@tw SWB%

e % qm P TE %u B a% e
smﬁrm

66. A two digit number is such that the
product of its digits is 12. When 36 is
added to the number, the digits

~ interchange their places. Find the
number :
(1) 62 (2) 60
(3) 26 (4) 20

67. Find the wrong number in the series.
3,3,6, 18, 72, 380, 2160
1) 3 @) 18
@) 72 (4) 380

68. Tive years ago, the age of A was twice
the age of B. After five years, their age
would be in the ratio 3 : 2. Their present
ages are :

(1) 15 years and 10 years
(2) 45 years and 35 years
(3) 19 years and 12 years
(4) 25 years and 15 years.

69. A and B dmded a profit of kstlzm
-“fsuehﬂ‘that;— part of A was eqm f@_-,
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72.

73.

74.

75t

76.

e e 5 SR

a5
(3) 2 W 3
haf S S e

"VENTURESOME" & SRl & wam
P Y TN A A L 7

(1) ROSTRUM  (2)".SERMOUNT
(3) TRAVERSER (4) SEVENTEEN

T 21, 36 @R 66 ¥ gt fawa 29
g g e A g s
(1) 231444 (2) 214344

(3) 213444 (4) 214434

(2) 4

7k HEATER & %e 9= KBDQHO
dR AIRY % 3¢ 9= DFUB g,
COOLER & FE 9% &

(1 FLRIHO  (2) ALRIHV
(3) FRLIHO  (4) FLLIHO

Ru T RE § fByEl @ @er s

L el

1) 18 @) 19
6) 20 @) 21

[15]

e
|

7A 8

12

73.

74.

785.

76.

@

R . e

[A]

How many pairs of the letters does the
word DIFFICULT contain in such that
the two letters of the pair have as many
letters between them in the word as
there are in the english alphabet ?

(1 5 2) 4
(3) 2 4) 3
Which of the following words can be

formed by using letters of word
"WVENTURESOME" ?

(1) ROSTRUM  (2) SERMOUNT
(3) TRAVERSER (4) SEVENTEEN
The least perfect square, which is
divisible by each of 21, 36 and 66, 18
(1) 231444 (2) 214344

(3) 213444 (4) 214434

If code word of HEATER is KBDQHO

and code word of AIRY is DFUB, then
code word of COOLER is :

(1) FLRIHO  (2) ALRIHV
(3) FRLIHO  (4) FLLIHO

Find the number of triangles in the
given figure :

(1) 18
(3) 20

2) 19
4) 21

Akash goes to house of Seema who is the
neighbour of Geeta. Geeta has a daughter
Meena who is studying in school. Arman
is the father of Aman and is married to
Anjali. Arman's sister is Geeta, then how
Geeta is related to Anjali ?

(1) Sister @y Sister-in-law

(3) Aunty (4) Mother-in-law

3 ! , R IG.QO.
ST G gt Shena G 1"= :
3 ;
((i;" ’ Ma""““ (dewe’
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R e
14 94/73%
23(7'3‘3 =
[A] iy [16]
77. IR O % qAEE <", A B TG ">, O 77. If O means "<", A means ">", O means
EIR:RRE "N aﬂ—{ 2x A 3y zy o z, a. n—n and 2x A 3y 2y O Zy then Wthh
-1 ‘TE ¥ ? , one is correct ? -
ChEtn @) 4x 0 3z (1) xOz %<2 (2) 403z ¥
() xAz (4) 4x A3z | (3) xAz s>z (4) 4xA3z uwx 732
78. FHYT : : ;LYY T BgST .-
. 78. t 1S
1. AR Baw ¥ ?ta Zmaentl;areﬁiends. B
2. B It st ‘ 2. B has friendship with all.
pxl Z A?ﬁ:gﬁ i %' 3. A has many enemies.
L A S C U5 GO H q8= e m%n 4. A &C does not like each other.
i A ; Conclusions :
e III i%ﬂﬁgB%ﬁwﬁ 4 I. A and C are friends of B.
i g B &l At B II. B has friendship with A's fnends
Il C iR B AR ¥ III. C & B are friends.
IV. A, B8R Cdi a ¥ i
IV. A, B & C are three friends.
a7/ & -3 e e § 2 Then which of the following is right
. conclusions ?
(;) 181X Haﬁ-’{ @ &R 1) Iand I ) I and III
3) LILUISIRIV (4) I, I i) I (3) LILII &IV (4) 1, 1 and III
79. U1 W Y Y& FXI §Y TR wReH AR 79. Starting from her house, Savita
S 8 H T fht '@ 3::‘,1 X 15 | T travelled 8 m towards west, then turned
i g qd @ efik 20 @t E Hd AR right and travelled 15 m. She then
gRed g @ R 20 A R = ngeéled 20 ug towards east, followed
SO AT I Sed & feaT W S el | b e i a hostel. Ho
. om the
forg fesm & 8 ? which direction ? =, \S
1) 13 @, F-IREH i I
(2) 13 #, afer-gd Al @r st s
(3) 28 i, IAT-UREH R )
@ 15 117 gferor-ided
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81, {ﬁm’mmw%:
(1) f=iR @) qorgs §
(3) e & (4) e F
g2, 2016 3 W% W F 2R 5 3
R TERIIC /TSRIIST S U3 ST ?
(1) T Q) X
(3) & ORESIER
83. & o, STl FIT T 7w R
() FFE Q) T
(3) | @) e
84. FAfwa FiT
ST e
A, @A™ i FER
| Dt
i l%?-.' R

[17)

81.

82,

83.

84.

| (1) Pinjore

[A]

'Mango-Mela' is organized at :
(2) Surajkund

(3) Sohna (4) Gohana

How many athlete/s of Haryana origin
won the medal at '2016 Summer

Paralympic' ?
(1) One
@) Three

(2) Two
(4) None
The district, where Yamuna river does

not flow :
@) Kurukshetra ~ (2) Panipat

(3) Sonipat (4) Palwal

Match the following :

Sanctuaries Districts

A. Khaparv's)as i.  Jhajjar
B. Nahar il Rewari
C. Bir Shikargarh iii. Panchkula

D. Abubashahar  iv. Sirsa

Code;:

FARNEL * (G S)
B T 1 s
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86. fFfefad & & @9 sRamwm & T

87.

88.

89.

7& &7

(1) dto THo ket

(2) &R Rig WX

(3) Re = qifew

(4) N T qosw

2011 31 SIRMT & SNER 9T BRA™T
T STEET ghg 3T B

(1) 17.64% (2) 28.43%

() 21.34%  (4) 19.90%

1 FeX 2017 %1 sRawm 1 SRedt fom
Wﬁqﬁwm?ﬁmm%?

(1) e () @

(3) ¥Ed @) A

Y I I G AT B R

aﬁﬁfﬁamﬁwﬁmaﬁﬁq

() aoer = ok Fem duET @
I & g Eeg B

(i) 7T FT BT T F FH FHGT B
Wﬁﬂﬂ'ﬂﬂ%iﬂ'ﬂ%ﬁﬂ%l

(m)=ﬁﬁr 3 @& 15 Qa?s' a#ﬁzm
mmaaam; i

[18]

86.

87.

88.

89.

Who among the following has never
been the Governor of Haryana ?

(1) B.N. Chakraborty

(2) Harcharan Sing Barar

(3) Shivraj Patil

#) Dhanik Lal Mandal

Decadal population growth 1:ate of
Haryana as per the 2011 Census 1s :

(1) 17.64% (2) 28.43%

(3) 21.34% (4) 19.90%

- As on November 1, 2017, how many

women members are there in the 13th
Legislative Assembly of Haryana ?

(1) Twelve . (2) Thirteen
(3) Twenty Two (4) Sixteen
Consider the following statements

regarding 'Deen Dayal Jan Awas Yojana' :

(i) The scheme is applicable in low
and medium potential towns. '

(ii) Policy aims to encourage the
development of low pric‘ed housing

- in towns.

(iif) Under the scheme 15 acres shall be

the maximum planncd area.
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|
| [19] ' [A]
qrT - IV / PART = IV
Ees G ged / COMPUTER SCIENCE
R : P o7t & gav 83 @ e gad afm RET T
D"‘ ection : Answer the following questions by selecting the most approp’ iate option.
. STRfET Ryen & dant #, =1 @l T 91. Consider following groups, in context
fer=me Y of operating system : i
age-1 -1l Group-l. roup-
ﬁ{’iﬁfﬂ' e W" edul |. Guaranteed
(]; ::ﬁﬂﬁis : Rt i Scheduling
| QI’{'{%PT q mﬁg@q Q. Rate monotonic 2. Real time .
W %, . e ) Scheduling Scheduling
R. o ggfim|3. 98 qgIRm R. Fair share Scheduling | 3. Thread Scheduling
el dar wge-ll B e w1 e Correct match of entries in Group-I
o ; and Group-Ilis:
(1) P2, Q-3, R-1 (1) P-2, Q3, R-1
@) P-1, Q2, R3 @) P-1, Q2, R3
(3) P-3, Q-2, R-1 A) p3, Q2, Rl
4 P-1, Q3, R-2 @) P-1, Q3, R-2
2. ER om@ ¥ @ ok & A 92. In ER diagrams weak entity set is
................ 3 Zr qufar S & ad represented by ............. and weak
géaqﬁﬁazaﬁm\ms@ﬁw entity set has always ...
RAGFRT  H W e participation  with respect to its
g et E3 identifying relationship.
(1) faXe R, it (1) Double lined Diamond, Partial
@ e g, ™ @) Double lined Box, Total
§ (3) Dashed lined Box, Total
(4) Dashed lined Diamond, Partial

|  93. How many 3 x 8 line decoders with an
B mlﬂtmputlﬂearemdedtoconstmct
R xﬁmmmﬁmtusmsmy
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95. wﬁé&mmﬁ@m@ﬁ(@fﬁ

96.

97.

@) B S Raem R1 sl a@vﬁ
(e &) @ Rl (W) =
Pt & & -8 STReE () X

SRR Fadeq (ot T demam)
P STIRTT BT BRI S Gl & 7

[: R1¥ ¥R (377)

II: R2¥ AN (3w0)

II: R1Q foel (feefie)
IV:R2 9 fomies (Relie)

() Idm o (2) 1397 IV

() LIITam I (4) I IV

M G T B T Pl n acaw ¥
WKWW(WEW?{W)%
al G ¥ Rt Tt B8R ?

(1) | wK | @) n-K

B) n-K+1 @) n-K-1

qH T ReisH r(R) T 9™ AB — C,

Co> DTN D —> A & FI< HEM 2|
5 Relee @1 Fese Fomr F=r e ?

(1) AB,CD &1 AD
(2) AB@aTCD

(3) AB@UTDB

(4) ABCD @1 BC

Wwﬂﬁ’l

[20]
95.

96.

() LK)
B) n-K+1

97l

Let relation R2 has a Foreign Key that
refers to Primary Key of relation RI.
Which of the following operations may
cause violation of referential integrity

constraints ?

I: insertinto R1

II: insert into R2

111 : delete from R1

IV : delete from R2

(1) IMand I () Tand IV
(3) IIland IIT (4) Illand IV

If G is a forest with n vertices and K
connected components, then how many
edges does G have ?

(@A) 17 =1

4 n-K-1

AssumethaiAB—)C C—)DandD—-)A
are simultaneously satisfied by a
relation r(R). What are the candidate
keys of this relation ? :

(1) AB,CD and AD

() ABandCD
(3 ABand DB

4 ABCD, and BQ
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i [21] [A]
00. TN .
{ RS 3 e 9 wes 100. Ordergd pair that represents time
ST TR HifRTd &g amn - complexity of divide phase and
HHT IH R combine phase of merge sort algorithm
(1) 0(1), O(n) respectively is :
(2) O(n), O(1) (1) o), 8?7;
3) Ofio (2) O(n), O(1
4 O( £2 n)s O(n logz n) m 0(10g2 n)’ O(n logz n)
( ) (7’1), 0(11)
P Ha=T & S H, e ® 101. Which of the following is false statement,
a a' BTI:'?;EB ‘371:?7 i?{% :?b'{?r % about virtual functions in C++?
FATH b f
- 3 I ' (1) z‘llzlzz must be members of some
@ g wfes NS TE & | ‘ , (2) They cannot be static members.
(3) ¥ offeige dided & @0 TR Y| (3) They are accessed using object
ST 2 | 1 pointers.
(4) I frdt o9 3 e T e (4) They cannot be a friend of another
T | e, class.
102, f(P.Q:R)=PO+ OR +PR @ firred 102. The  minterm  expansion  of
foR B B - , f(P.O,R)=PQ+QR +PR is:
(1) mgy +my +mz +ms A , (1) mo +my+m3+ms
(2) my +my +nig +my (2) mo +ml +mg +m4
(3) my +ny +mg + Mg B TEd J (3) my +my + Mg +my
my +my +my +1m7 A& my+my+my+myg
: ﬁ,'s\ﬁitch H . In C programming body of a switch
} T 3 ~ statement must consist of :
() A case labeled statement
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105. In cont

HHY to move the 1Catl/v

=10 |
a7 |

G and time t

to come under
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110.

1 S

112.

113.

114.

ST S T’ T A
....... o U gy Ay Q9
ﬁ@ﬂﬁaqﬁr@)ﬁaﬂmaﬁﬂﬁ%f
(1) ?lmf YRV, HH (FIFO)

(’:’) SR R we,
() T feify, ey (FIFO)
4) E ge, ot

T_;Z 2?0 s ImE G i
24.0.021 TR RER |

% oiftw 3w 2 R
(1) 194.24.7.255

(2) 194.24.11.255

(8)SNI0423.7.955

(4) 194.24.7.250

M= H @ $9-d T et (36)
78 T 7

(1) Pv—P (2 PAQ) =P
B) P=>0VvP® (PvO)=>P

ooooooooooooo

..................

B!
P SH 3 |
(1) |, TS, SoIeeH
(2) SeTee, TR, W
(3) Qe ISR, UKThIT
(4) fie, getie, Fiae
(1) eEE Jueiy-eame feasd
) fareioT-10 % T STl SIesiK
3) == e oifea U0
(4) 9F Feks T s

e # - R geeh (dense
MoR) gedl FH OASR A HeEE H
e PR B P

(1) FieTSe (FlowLayout)

2 drevaetse (BorderLayout)

(3) SieEmeTSe (BoxLayout)

(4) fIredeTSe (GridLayout)

Level-3/1321

110.

111.

112,

113.

114.

T SRS R TR RN SR YA TR

[A]
is the phenomenon in
operating system in which sometimes
increasing the number of page frames,
increases the number of page faults.
This  phenomenon is commonly
experienced  in page
replacement policy.

(1) Banker's Concept, FIFO

(2) Dining Philosopher's Problem, LRU
{3) Belady's Anomaly, FIFO

(4) Gangs Phenomehon, Optimal

Consider a CIDR network address
194.24.0.0/21. The last address in this
network will be :
(1) 194.24.7.255
@) 194.24.11.255
(3) 194.23.7.255
(4) 194.24.7.250

Which of the following is not a
tautology ?
(1) Pv=P @ (BAN@) =P
3) (P = Q)vP (4) (Pv Q)=>P
The TCP/IP model does not have
6L Coonsanaoetc layers but
layer include required
functions of these layers.
(1) Session, Application, Presentation
(2) Presentation, Application, Session
(3) -Session, Presentation, Application
(4) Link, Internet, Transport
Cortana is a Microsoft's .............. .
(1) Hybrid laptop-tablet device
(2) Browser introduced
Windows-10
(3) Touch support Office App
(4 Voice controlled digital assistant
In Java, which layout manager
preserves the width and height of the
components 7 :
(1) FlowLayout
(2) BorderLayout
(3) BoxLayout
® GridLayout

with

P.T.O.
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[A] [24]

115. T wg-ag § o9 Th T swd H, 115. In MS-Word, yOu Can use .............. to 4
oo %Wmﬁaqga Sl ET;TT f IiIE navigate a long document through small
e [ e pictures of each page.

(1) g . : (1) Document-map
(@) _ (2) Thumbnails
(3) oTSTTRT ' (3) Outline

() g (4) Draft

116. T THURW 2007 F BHWREX qun 116. In MS-Excel 2007 highlighter and eraser
stal( iaaﬁﬁq ...................... % : options are found under ..........
<RI B ¥ ) '

(1) T ¥ — =T T a : (1) Data tab — Data tools group
(2) Reg 29 — e G : (2) Review tab — Proofing group
B) RE @ — wr e age  (3) Review tab — Start inking group
(4) TS TeTse ¥/ — T TE (4)” Page layout tab — Arrange group

7. =1 & 4 e @ @ @ w & 117. Hyperlink is created in HTML in which

ERORI S T ? | of the following ?

(1) <a>www.google.com < /a> (1) <a>www.google.com </a>

(2) < a name = "www. google. com"> . (@ < a name =.._" .google.,com“>
my google </a> : ) - my google </a>

(3) <aurl = "www.google.com"> my | (3) <aurl="www. google.com"> my |
google </a> ‘ | google</a> W ety b

(4) <ahref= WW. goagle com"> my | ;;jf; 3 <ahref= "www googlbeem“&m,y ;

g;ll,-’i -

google < /2=
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I —— T T T T . - — _ — I I
<R R T L v MU IR, S

% AN A LI
I et T ? |

[ 25
Gy Eﬁmﬁ%ﬁ@ Wij’ """"" | 120. In HTM iy
3 9 TSy . In I, contents of"a ..ereie.
gAY (AR qﬁr\{) 3 gq;f\féﬂiﬁ‘cﬁ@%m-( element are displayed in monospaced
COF SIS ! font.
2) < (1) <u>...</u>
E3§ < 21212 > < 7111?110:0 % (2) <mono > ... </mono >
@) =<t e g
e aﬂw W 4 <tt>... </tt>
i 1.2.3 ?4 i 3<Z_Eizmlmm) PicHll 121. Consider the virtual page reference
>3, 2,4,1,3,2,4, 1 I faem &t) string 1,2, 3,2,4,1,3,2,4, 1.
3 5 B9 @ 3 =i e Let a C(?mputer system has m?un
T TE o 7 o Sl e memory Size of 3 page 'frames.whlch
(@H—%’?}Té N wi 3 ??REHS | are initially empt-y and it is running on-
) RN demand paged virtual memory system.
21 LRU d97 FIFO TR i The number of page faults under LRU
(LRU & FIFO U Rwighe yiiere) & ded and FIFO page replacement policy are
L) £l (Elﬁ tﬁl@) T HE: B respectively :
(1) 9,6 (2) 6,3 1) 9,6 @) 6,3
(3) 6,9 4 3,6 3) 6,9 “4) 3,6
122. I STHIT (@ﬂﬁ?) o fU g9 122. Considering equal processing time for
rererule| (ﬁl@ﬁl‘T ?:'IB‘T) GG ¢, N each segment, speed-up S achieved by a
STRYl & T e | qReEfer, K K-segment instruction  pipeline
aﬁ‘lﬂﬁ’f G| aﬁ%&’T (EEEF-‘QH) RIESKIES] operating on a straight sequence of N
=R T & fiE-31g S BT instructions is given by :
KN-K) v o« K+N R IR e e e
(1) S=m(2)s— KN @) S_K+N_1(2)S_ KN
K(N +1) _ _K@W+1) KN
® S=Foy P TN G ey e
123. 5 TEE & I el H HE 123. Number of binary strings of length 5
R T (@mar) & ar e i T that contain no two or more consecutive
g, Brlt ;. ; ZEros, 1S
(1) 12 (205 (1) 12 @y 15
(3) 6 4) 13 (3) 6 4 13
194, W K 6 U GRS ¥ P = 17 @ | 124, LetP =17 and Q = 11 is taken in RSA
Q=11 fomm T ® | uises (et ' algorithm, what are possible values of
i) E, N @ mgae @ (feh Egﬁﬁ) E, N (public key) and D (private key)
D& |9d A AT HT S 7 respectively ?
(1) 5,187,37 (@) 7,160,23 @ 5,187,37 (2) 7,160,23
(3) 7,187,23 (4) 9,160,37 (3) 7,187, 23 4) 9, 160,37
Level-3/1321 L
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Hy ' T
[A] : [26] :
125. RelgFe Taosn &4 S feuive 2o 125. Relational algebra query that finds e
q T e (FEEAE) B AH G FA B, ~ customer's names, who have a baIE}nc.e
o SRR (SF) 1000 | 1R @), & : " more than 1000, from deposit table, is :
(1) = balance > 1000 (o (1) = balance > .1000 (c
customer_name (Deposit)) customer_name (Deposit))
(2) o customer name (n balance > : (2) © customer_name (n balance >
1000 (Deposit)) i ; 1000 (Deposit)) 13
(3) m customer name (o balance > - @y m customer_name (c balance >
1000 (Deposit)) 1000 (Deposit))
(4) o balance > 1000 (xn " @4 o balance > 1000 (m
customer_name (Deposit)) customer_name (Deposit))
126. g9 & oTgER, IR TH SoEe IF F # 126. According to Brooks, if 7 is number of 1
TR ¥, dr due g (Fafrber programmers in a project team then the
qqu) # TEr B number of communication paths is :
(1) n(n—1)2 (2) nlog n ' T n(m-12 () nlogn
B) n @ nn+1)2 I <)) @) n(n+1)2
127. A% L e NP w5 UR Qs B f R 127. If L € NP is a language such that
. L'eNPCH WU L'sp L & W9 L' <p L forsome L' € NPC, then : ‘
(1) L, NP-Hard3(2) L3as NP (1) L is NP-Hard (2) Lis NP only 1
(3) L,NPCE (4) L3ad P? (3) LisNPC  (4) Lis P only
128. IR oIH G fin) FEIGAR B 0 | 128, If positive function f(n) is given below
f() =ay +ap+ayn® +azn’ +..an™ as:
a9 &NIHS 1 qdl a, >0 & [T fn) s f(n)=ay .-l-a,n+a2n2+q3n3+....amn”'
S ‘ ~ thenfor positive nand a,, >0, fin) is :
o) @ o) Rl o) 1
T oserluiidet e | o @tkaly o d)
: e e 129. Which of the following is not a void
of HTNM ? a7

Scanned with CamScanner



i AT
D K P S T e D W Q Ty
o Q-{q-
RIEESE I ELECH llee) Hen WESH ® T &
TS TR R ST e ¢
g) WS W™ (2) ¥e argeq
(3) Fie (4) sTSeTE
132 @ 4 @ w wex s e
| sfieiept
RIS o e, W 8 &
(1) 8 2 7
(3)'6 @ s
133. M1 U% 9RI0 @ & (BST) & o

€Y 398 VSQTURP 2R R oy
%|qﬁS<V<Q<P<T<R<U€[,-
o §6 BST &7 M-aifet 3awie & ¢

(I) SVQPTRU (2) PQSVRTU
(3) SVRUTQP (4) PRQSUTV

134. TH AU o (T) & EeTeT T4 Semex
Sqd@ H9: BDAECFE @1 ABDCEF
g d T GRe-STeX gawd eI :
(1) DBFECA (2) BDEFCA
(3) DBEFCA (4) BDFEAC
135. Cr+ & dod § P & @ F9-A1 T
Tq & O FRNK TR 78 6 7
(1) feuses (2) eTreiea
(3) TRRd (4) R
136. 9 el (39eE) & A @, fFE
wh IR (25R) T H 8
ST I I a9 8, M. SQL gl
vt (feawy) fRam ST @l &
(1) SELECT  table name
FROM User_tables;
(2) SELECT  Data dictionary
SHOW my_tables;
(3) SELECT  my_tables
FROM Data_dictionary;
(4) SELECT  User_tables
FROM this_login;
Level-3/1321

R L YO

131.

132.

133.

-134.

135.

- 136.

[A]

Multiple MS-PowerPoint slides can be
printed on a single page using ........ ]

(1) Sliderange (2) Hand outs

(3) Collate (4) Outlines

HTML version 5 has ........... levels of
‘headings.

(1) 8 @ 7

3) 6 4 5

Let post order traversal of a binary

search tree (BST) is given by VSQTURP.
IfS<V <Q<P<T<R <U, then the
pre-order traversal of the BST is :

(1) SVQPTRU (2) PQSVRTU
£3) SVRUTQP (4) PRQSUTV
If BDAECF and ABDCEEF are inorder

‘and preorder traversals of a binary tree

(T) respectivgly, then post-order

traversal of T 1s :
(1) DBFECA
(3) DBEFCA

In context of C++, which of the following
is not a type of STL container ?

(1) Derived (2) Associative

(3) Active (4) Sequence

The names of the tables that an user can

(2) BDEFCA
(4) BDFEAC

have access to or that he or she has

created, can be displayed with the

following SQL query :

(1) SELECT table name
FROM . User_tables;
(2) SELECT  Data_dictionary
SHOW my_tables;

(3) SELECT my_tables
FROM - Data dictionary;

(4) SELECT  User_tables

this_login;

FROM

R, T i e e e

P.T.O.
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ST B UgH Bics

CPU & T WRX 1 Rt e 3, e

A wiq () § G (SRe)

T VST T B,

(1) sTeBEe WBR ds

) Refeg T A

(3) WX URiT A _

(4) TR e W A

ST st

I ST § T8 S Hebell

(1) MODIFY TABLE table _name
DROP PRIMARY KEY

: [CASCADE];

(2) ALTER TABLE table name
DROP PRIMARY KEY

[CASCADE];

_(3) DELETE PRIMARY KEY

FROM table_name;
(4) CHANGE TABLE table nante
DELETE PRIMARY KEY;

"ﬁﬁfﬁ%mﬁwsm

137. Addressing mode in which the address

138.

field of instruction specifies a rcglster in
the CPU, whose contents give the

“address of the operand in memory is

calleclen st 9
(1) indirect addressmg mode
) relative addressing mode
(3) register addressing mode
(4) register indirect addressing mode

To remove a primary key following
SQL query may be used :
(1) MODIFY TABLE table name
DROP PRIMARY KEY
[CASCADE];
(2) ALTER TABLE table_name
~ DROP PRIMARY KEY
Lo [CASCADE],
(3) DELETE PRI

FROM table_ nam ety
(4) CHANGE T‘ABLE% abl
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[29] [A]
T GiYedax W F 99 142. Arrange the given types of coupling
iy g (F*W%T’T) % TR between different modules of a software
mﬁﬁ%’i F &9 F R P : from strongest to weakest coupling :
I; Eﬁqm 1: Stamp coupling
IT: e EWR'T’T II: Common coupling
III : =t W 111 : Content coupling
IV srer Eﬁqﬁm IV : Data coupling
(1) 0L IL 1, 1V (2) IV, 10, 1, 111 (D) ILILLIV (2) IV,IL L III
) ILNLIV,T (4) 1,1V, I, 11 @) ILULIV,1 (4) 1,1V, I, 10
S 3w M1 ueba o ded 143. The following postfix expression with

(TR=) T d= fmm s
A fRaT ST & : 823 A /23 4
51+ — 99 ¥ & A o umie s
(ITRR) Bl e « B AT B R

wh & B ) g B
(1 6,1 @) 5,7
@) 3,2 @ 1,5

T Tk 3 wed ¥ w oqnnE
dee B M= S W 3 SR

(@@)gﬂmmm%:

(1) @&d [scale ()]
(z) ;maz [translate>()]

single digit operands is evaluated using
a stack : 823 A/ 23 x + 51 x.— Note
that ~ is exponentiation operator. The
top two elements of the stack after the
first % is evaluated are :

(O5) Gl @) 5,7
3 3,2 @ L5
144. In context of Java Graphics, a
- geometric  object can  be ftitled
horizontally using the following :
- (1) scale ()

(2) translate ()
- (3) rotate ()
&) shear ()

145. In C programming pomter arithmetic
cannot be performed on which of the

Scanned with CamScanner




[A]

147.

148.

149.
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C++ ¥, o9 uh T™ &

PI-aT1 Ay BT By ST 7

(1) STUFRIFES [unexpected ( )]
(2) e [terminate ()]

'(3) T [null ()]

(4) fewIee [default ()]

e C 2 s (s i) a1 omoere
FreffRer =% -

int add (int a, int b = 12)

return a + b;

“main ()

inte o
¢ =add (10, 20);
printf ("c = %d", ¢);

}

(1) c=22 (2) c=30

@)fe =12 “ c=10

Tq TY-THRT % = CONVERT (1,
"in", "m") T STSCYE F}T M !
d) 0.0254 @) 39.37

(3) 2.54 (4) 30.48

148.

149.

In C++, which of the following methods
contained in the exception handling file
is called, when the exception handling
mechanism in a program fails to find a
matching catch block for a raised

exception ?
(1) unexpected ()
(2) terminate ()

(3) null ()
(4) default ()
Determine the output of following C
code segment :
int add (int a, int b= 12)
return a + b;
main ()

int ¢;
c=add (10, 20);
printf ("c = %d", ¢);

@ .c=22 (2) ¢c=30

Bec=12 4 c=10

What is output of MS-Excel function =
CONVERT (1, "in", "m") ?

(1) 0.0254 (2) 39.37

3) 2.54 (@) 30.48

] IncﬂnteX-t of Java Threads, WhiCh of the

following statements are true ?
I: sleep () and g o satic
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